Friday, November 15, 2024 A

EE 313 Signals and Systems (Fall 2024) Quiz #6
Name /Ké/}/ /¢

Instructions: Open book & notes. Place answers in indicated spaces & show all work for credit. Fully label sketches.

A continuous signal x(r) =10sinc(4¢), —co <t <o is input into a filter with the frequency response

0.8 Ia)l <10 rad/s

. Sketch |H (a))| and find an equation for H(®) in terms of the rectangular pulse
0 elsewhere

H(a))={

function. Find X (w)and sketch IX (a))| . Then, compute the outputs ¥(®) and y(¢) of the filter.
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Friday, November 15, 2024 B

EE 313 Signals and Systems (Fall 2024) Quiz #6
Name /C%(/ g

Instructions: Open book & notes. Place answers in indicated spaces & show all work for credit. Fully label sketches.

A continuous signal x(¢) =12sinc(5¢), —wo <t <o is input into a filter with the frequency response

0.9 |w|<12 rad/s

. Sketch ’H (a))] and find an equation for H() in terms of the rectangular pulse
0  elsewhere

H(w)={

function. Find X(®)and sketch [X(®)|. Then, compute the outputs Y(@) and y(r) of the filter.
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